PHYSIOLOGY EXAM 6 2006
1. Neurophysins carry hormones from the hypothalamus to the:

A. Parathyroid glands

B. Islets of langerhans

C. Posterior pituitary

D. Anterior pituitary

2. Which of the following represents the ultra short negative feedback loop to the hypothalamus for CRH?

A. Inhibition of CRH secretion by CRH

B. Inhibition via ACTH of the anterior pituitary

C. Inhibition via cortisol

D. Inhibition via sympathetic nerves

3. The immune response is suppressed by glucocorticoids which inhibit aracidonic acid formation

A. True

B. False

4. As discussed in lecture, which hormones will oppose the hypoglycemia induced by insulin?

A. HGH

B. T3 & Thyroxin

C. Cortisol

D. All of the Above

5. As mentioned during lecture, which of the following would be a direct physiological response to an increase in circulating PTH?

A. Decreased reabsorption of phosphate by the kidneys

B. Decreased reabsorption of calcium by the kidneys

C. Decreased absorption of calcium in the small intestine

D. Increased absorption of phosphate in the small intestine

6. In normal concentrations, thyroid hormones are considered to be protein anabolic.

A. True

B. False

7. As mentioned in lecture, the oxidation of iodide to iodine plus the organification of iodine:

A. Does NOT require the presence of thyroid peroxidase

B. Occurs within the thyroid epithelial cells

C. Requires that the colloid of the thyroidal tissue be first protolized by enzymes

D. Occurs in the colloid of the thyroidal tissue

8. Which of the following anterior pituitary hormones is primarily under inhibitory control from hypothalamic centers?

A. Growth hormone

B. Adrenocorticotrophin

C. Prolactin

D. Luteinizing hormone

9. Which of the following represents an unsound therapeutic protocol?

A. Treating hypothyroidic patients with thyroxine

B. Treating hyperthyroidic patients by thyroidectomy

C. Treating Type I diabetic patients with pig or cow insulin

D. Treating acromegalics with biosynthetic human growth hormone

10. As pointed out in lecture, in classic Addison’s disease, the plasma level of which of the following would be significantly increased?

A. CRH

B. MSH

C. Cortisol

D. Coritcosterone

E. A & B are correct, C & D are incorrect

11. As mentioned in lecture, which hormone has an adverse (i.e., catabolic) effect on all three metabolisms (i.e., lipids, proteins and carbohydrates)?
A. Somatotropin (STH)

B. Thyroxine

C. Glucagon

D. Cortisol

12. All of the following symptoms are true about Cushing’s syndrome EXCEPT:

A. Coarse dry skin

B. Development of Insulin Resistant Diabetes Mellitus

C. Hypertension

D. Moon Face

13. What is the main source of glucose in people with uncontrolled Type I or Type II diabetes?

A. Fat catabolism

B. Polydipsia

C. Protein anabolism

D. Protein catabolism

14. All of the following symptoms are true about acromegalics EXCEPT:

A. Enlarged hands and feet

B. Prognathism

C. Osteoarthritic vertebral changes

D. Moon face

15. Which of the following metabolic bone diseases is associated with advancing age and menopause in which net excess bone resorption predominates over bone formation?

A. Osteopetrosis

B. Osteomalacia

C. Osteoporosis

D. Osteogenesis imperfect

16. Which inhibits Growth Hormone (HGH) secretion from anterior pituitary?

A. Glucagon

B. Sex Hormones (estrogen, androgens)

C. Insulin-like Growth Factors (IGF 1 & 2)

D. Thyroid hormone

17. One of the following describes a disease in which thyroid stimulating immunoglobins (TSI) are formed against TSH receptors on the thyroid gland. Which one?

A. Exophthalamic goiter

B. Hashimoto’s disease

C. Myxedema

D. Graves’ disease

18. As pointed out in lecture, all of the following are true about a Type I diabetic EXCEPT:

A. Increased sugar levels in blood

B. Increased lipid levels in blood

C. Increased plasma volume

D. Ketonurea

19. All of the following can be associated with diabetes (Types 1 & 2) EXCEPT:

A. Blindness

B. Gangrene of lower limbs

C. Increased rapidity of healing following surgery

D. Myocardial ischemia

20. Vasopressin is produced predominantly by which brain nucleus?

A. Arcuate

B. Paraventricular

C. Ventromedial

D. Supraoptic

21. In looking at the case history of an Acromegalic, you would not be surprised to find what other peptide to be elevated in the patient’s plasma in addition to HGH?

A. Thyroxine

B. Glucagon

C. Cortisol

D. Somatomedins (IGF 1 & 2)

22. As emphasized during lecture, in looking at the case history of a patient with classic Graves’ disease, you would NOT find which of the following?

A. Heat sensitivity

B. Tachycardia

C. Diffusely enlarged thyroid gland Goiter

D. High serum TSH levels

23. When reviewing a patient’s case history of Diabetes Mellitus, which of the following is the most likely cause for the patient’s dehydrated state?

A. Chronic renal failure causing excess excretion of body fluids

B. Decreased fluid intake due to the symptoms presented

C. Inhibition of antidiuretic hormone release thereby causing excessive dieresis

D. Increased excretion of body fluids due to excessive glucose excretion

24. As pointed out in lecture, which of the following hormones conserves body protein, carbohydrate and fat stores?

A. Cortisol

B. Glucagon

C. Insulin

D. HGH

25. Interruption (i.e., sectioning) of the hypothalamo-hypophyseal nerve tract to the posterior pituitary gland can lead to:

A. Dwarfism

B. Cretinism

C. Acromegaly

D. Diabetes mellitus

26. All of the following act, via negative feedback, to inhibit secretions from the anterior hypophysis and/or the hypothalamus except:

A. Triiodothyronine (T3)

B. Human Growth Hormone (HGH)

C. Cortisol

D. Insulin

27. As pointed out in lecture, hormones are secreted at a steady, non-pulsatile rate. 

A. True

B. False

28. Aldosterone:

A. Release from the adrenal gland is completely controlled by the hypothalamus

B. Secretion by the adrenal gland is stimulated by Angiotensin-II

C. Acts by inhibiting renal Na+ reabsorption, but increasing renal K+ secretion

D. Is responsible for adjusting an excessive ECF volume back down to normal

29. In males, LH secretion from the anterior hypophysis is best associated with:
A. Sperm production

B. Conversion of testosterone to estradiol

C. Inhibition of inhibin secretion

D. Stimulation of Leydig cells to produce testosterone 

30. Is exopthalamos always associated with Graves’ disease?

A. Yes 

B. No

31. Ketone body formation is not a characteristic of Type II diabetes. Why?

A. Type II diabetes generally lack insulin

B. Ketone body formation is usually inhibited in Type II diabetics because of the presence of insulin which inhibits glucagon secretion

C. The insulin receptors of Type II diabetics combine with the ketone bodies, effectively reducing plasma ketone body concentrations

D. Glucagon inhibits ketone body formation

32. Glucagon:

A. Release is stimulated by lowered plasma glucose

B. Actions include protein anabolism

C. Increases liver glycogenolysis

D. Release is stimulated by the presence of somatostatin

33. As discussed in lecture, a diabetic accidently overdoses on insulin. What is the most serious and potentially life threatening consequence?

A. Ketone body formation

B. Ketoacidosis

C. Plasma glucose concentrations failing to below 50 mg%

D. Protein anabolism

34. As emphasized in lecture, hypocalcemic tetany:

A. Results from the unblocking of neural Na+ channels

B. Can be indicated by the presence of Chvostek’s sign and Trousseau’s sign

C. May result in a patient’s demise if respiratory muscles are involved 

D. All of the above are correct choices
